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MONTH OF NOVEMBER 

TEST I 
UNIT III GEOGRAPHY OF INDIA 

 
1. Match the following 

Discontinuity   Layers of earth 
A. Conrad    1. Upper and lower mantle 
B. Mohorovicic   2. Outer and inner core 
C. Gutenberg   3. Lower mantle and outer core 
D. Lehman   4. Lower crust and upper mantle 
E. Repetti    5. Upper crust and lower crust 
nghUj;Jf 
,ilg;gl;l vy;iy  G+kpapd; mLf;Ffs; 
A. Nfhd;uhl;   1. ntspf; ftrj;jpw;Fk; cl; ftrj;jpw;Fk;  

,ilg;gl;l vy;iy 
B. nkhNfhNuhtprpf;  2. ntspf;fUtpw;Fk; cl;fUtpw;Fk; ,ilg;gl;l  

vy;iy 
C. Fl;ld;ngu;f;   3. cl;ftrj;jpw;Fk; ntspf;fUtpw;Fk;  

,ilg;gl;l vy;iy 
D. ny ;̀Nkd; vy;iy  4. fPo; NkNyhl;bw;Fk; ntsp ftrj;jpw;Fk;  

,ilg;gl;l vy;iy 
E. nugpb    5. ntsp NkNyhl;bw;Fk; fPo; NkNyhl;bw;Fk;  

,ilg;gl;l vy;iy 
 A B C D E 
a. 5 4 3 2 1 
b. 5 4 2 1 3 
c. 4 5 3 1 2 
d. 1 2 3 4 5 

 
2. Continental Drift theory was postulated by ___ in ____. 

a. Alfred Wegener, 1910  b. Alfred Wegener, 1912 
c. Karl Pearson, 1910   d. Karl Pearson, 1912 
fz;lefu;T Nfhl;ghL _____ My; _____ y; nrhy;yg;gl;lJ. 
a. My;gu;l; ntf;du;> 1910  b. My;gu;l; ntf;du;> 1912 
c. fhuy; gpau;rd;> 1910   d. fhuy; gpau;rd;> 1912 
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3. Benioff zone is the place where ____ mostly occurs. 
a. Volcano  b. Earthquake  c. Tsunami d. Trench 
mjpf mstpy; _____ Vw;gLk; gFjp ngdpnahg; kz;lyk; vd;W 
miof;fg;gLfpwJ. 
a. vupkiy  b. epyeLf;fk;  c. Rdhkp  d. mfop 

 

4. Choose the correct statement. 
I. Focus is the point on the earth’s surface vertically above the 

epicentre of an earthquake. 
II. Epicentre is the location inside the earth where earthquake 

originates. 
a. I alone b. II alone  c. Both I and II  d. Neither I nor II 
rupahd thf;fpaj;ijj; Nju;e;njLf;f 
I. epyeLf;f ikak; vd;gJ Gtpapd; Nkw;gug;gpy; epyeLf;f Nky; 

ikag;Gs;spf;F Neu; vjpNu mike;jpUf;Fk; Gs;sp MFk;. 
II. Gtpapd; cs;Ns epyeLf;fk; Njhd;Wk; ,lk; epyeLf;f Nky; 

ikag;Gs;sp vd;wiof;fg;gLfpwJ. 
a. I kl;Lk;    b. II kl;Lk;   
c. I kw;Wk; II ,uz;Lk; rup d. I kw;Wk; II ,uz;Lk; jtW 

 

5. Consider the following statements regarding earthquake. 
I. P and S waves are body waves 
II. P waves pass through all Medium 
III. S waves pass through only solid Medium 
a. I is correct  b. I, II are correct  
c. II, III are correct d. All are correct 
G+fk;gk; njhlu;ghd gpd;tUk; thf;fpaq;fisf; ftdj;jpy; nfhs;f. 
I. P kw;Wk; S ,uz;Lk; cl;Gw miyfs; 
II. P miy midj;J epiyfspYk; fle;J nry;Yk;. 
III. S miy jpl epiyapy; cs;s nghUl;fspd; topNa kl;LNk fle;J 

nry;Yk;. 
a. I rhp b. I, II rhp  c. II, III rhp  d. midj;Jk; rhp 

 

6. Choose the incorrect pair 
I. Mt. Etna – Active volcano 
II. Mt. Vesuvius – Dormant volcano 
III. Mt. Fujiyama – Extinct volcano 
a. I  b. II  c. III  d. all of the above 
jtwhd ,iziaj; Nju;e;njLf;fTk; 
I. vl;dh vupkiy  - nray;gLk; vupkiy 
II. ntRtpa]; vupkiy - cwq;Fk; vupkiy 
III. gpA+[pahkh vupkiy - nraypoe;j vupkiy 
a. I  b. II  c. III  d. Nkw;fz;l midj;Jk; 
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7. Choose the incorrect pair 
a. Granite - Igneous rock   b. Shale – Sedimentary rock 
c. Marble – Metamorphic rock  d. Anthracite – Sedimentary rock 
jtwhd ,iziaj; Nju;;e;njLf. 
a. fpuhidl; - jPg;ghiw   b. khf;fy;  - gbTg;ghiw 
c. ryitf;fy; - cUkhwpa ghiw d. Me;jpuirl; - gbTg;ghiw 

 
8. Grand Canyon of India is situated on the ____ river. 

a. Krishna  b. Pennar  c. Ganga  d. Godavari 
,e;jpahtpd; fpuhz;l; nrq;Fj;J gs;sj;jhf;F ____ Mw;wpy; mike;Js;sJ? 
a. fpU~;zh b. ngd;dhW c. fq;fh  d. Nfhjhtup 

 
9. Inter locking spur is an erosional landform found in ____ 

a. Meander b. Ox-bow lake c. V-shaped valley  d. Grooves 
mupj;jy; epyj;Njhw;wkhd ,ize;j fpisf;Fd;Wfs; ____y; fhzg;gLk;. 
a. Mw;W tisTfs;  b. Fjpiuf; Fsk;G Vup 
c. v-tbt gs;sj;jhf;F d. ePz;l Fsk; 

 
10. ____ are the results of both erosional and depositional processes. 

a. Meanders  b. Delta c. Estuary  d. None of the above 
_______ vd;gJ mupj;jy; kw;Wk; gbaitj;jy; Mfpa ,uz;L 
nray;KiwfspYk; Njhd;Wk; epyj;Njhw;wk;. 
a. Mw;W tisT b. nly;lh  c. fopKfk;   d. vJTkpy;iy 

 

11. Choose the incorrect pair 
a. Arcuate Delta – Gangetic Delta in India 
b. Estuarine Delta – Seine River of France 
c. Bird Foot Delta – Mississippi river, USA 
d. Truncated Delta – Western part of Gangetic delta formed by river 

Hooghly 
nghUe;jhj ,iziaj; Nju;e;njLf;f 
a. tpy; tbt nly;lh - ,e;jpahtpd; fq;if nly;lh 
b. fopKf nly;lh – gpuhd;rpy; cs;s rPd; MW 
c. gwit ghj nly;lh – mnkupf;f If;fpa ehl;;by; cs;s kpfprpg;gp Mw;W 

nly;lh. 
d. Jz;bf;fg;gl;l nly;lh - `_f;sp Mw;why; cUthf;fg;gl;l Nkw;F gFjp 

fq;fh nly;lh. 
 

12. Which of the following are depositional landforms of Glaciers? 
I. Moraines  II. Outwash plain  III. Esker 
IV. Drumlins  V. Kames 
a. I, II, III  b. I, III, IV  c. I, II, III, IV  d. all of the above 
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gpd;tUtdtw;wpy; gdpg;ghiwfspd; gbT epyj;Njhw;wq;fs; vit? 
I. nkhiud;fs;  II. gdpahw;W tz;ly; rkntsp III. v];fu;fs;  
IV. buk;spd;fs;  V. Nfk;]; 
a. I, II, III  b. I, III, IV  c. I, II, III, IV d. Nkw;fz;l midj;Jk; 

 
13. Landforms produced by the action of Groundwater is called as ____ 

a. Karst Topography   b. Glaciers  
c. Moraines    d. None of these 
epyj;jb ePupd; nrayhy; cUthf;fg;gLk; epyj;Njhw;wq;fs; ____ vd 
miof;fg;gLfpd;wd. 
a. Rz;zhk;G epyj;Njhw;wk;  b. gdpahWfs; 
c. nkhiud;fs;    d. NkNy Fwpg;gpl;l vJTk; ,y;iy 

 
14. Which of the following are erosional landforms due to Groundwater? 

I. Sinkholes  II. Doline  III. Lappies 
IV. Uvala   V. Polje 
a. I, II, III  b. II, III, IV c. I, II, III, IV d. all of the above 
gpd;tUtdtw;Ws; vit epyj;jb ePu; mupj;jyhy; cUthf;fg;gLk; 
epyj;Njhw;wq;fs; 
I. cwpQ;rpj;Jis II. Nlhypd;  III. Nyg;gP]; 
IV. Athyh  V. Nghy;N[ 
a. I, II, III  b. II, III, IV c. I, II, III, IV d. Nkw;fz;l midj;Jk; 

 
15. The Landforms which are created by erosional and depositional activities 

of wind are called as ____ 
a. Karst Topography   b. Aeolian landforms 
c. Glacial landforms   d. None of the above 
fhw;wpd; mupj;jy; kw;Wk; gba itj;jyhy; cUthf;fg;gLk; 
epyj;Njhw;wq;fs; ____ vd;W miof;fg;gLk;. 
a. fhu;];l; epyj;Njhw;wk;  b. VNahypad; epyj;Njhw;wk;  
c. gdpg;ghiw epyj;Njhw;wk;  d. Nkw;fz;l VJkpy;iy 

 

16. Pick the odd one out 
a. Mushroom rock  b. Yardang c. Zeugen  d. Loess 
nghUe;jhj xd;iwj; Nju;e;njLf;f. 
a. fhshd; ghiw b. ahu;lq; c. rpA+fd;  d. fhw;wb tz;ly; 

 

17. Rameswaram is an example of ____ type of wave landform. 
a. Tombolo  b. Spit  c. The Bar  d. Beach 
uhNk];tuk; ___ tif miy epygug;gpw;fhd vLj;Jf;fhl;L  
a. jPTr;ruis ,izg;ghij  b. ePz;l kzy; jpl;L 
c. kzw;jpl;Lfs;    d. flw;fiu 
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18. Surface water includes _____ 
I. Ice and snow on land only 
II. Ice and snow on land and sea 
III. Water in lakes, rivers 
IV. Moisture in soil, atmosphere and biosphere 
a. I, III, IV  b. II, III, IV c. II, III  d. I, III 
Nkw;gug;G ePu; vtw;iwnay;yhk; cs;slf;fpaJ. 
I. epyj;jpy; cs;s gdpf;fl;b kw;Wk; ciwg;gdp kl;Lk;. 
II. epyk; kw;Wk; fly; gFjpapy; cs;s gdpf;fl;b kw;Wk; ciwg;gdp 

kl;Lk;. 
III. MWfspYk;> VupfspYk; cs;s jz;zPu;. 
IV. kz;> tspkz;lyk; kw;Wk; capu;f;Nfhsj;jpy; cs;s <ug;gjk;. 
a. I, III, IV  b. II, III, IV c. II, III  d. I, III 

 
19. ____ is the largest salt water lake in India. 

a. Chilka lake b. Pulicat lake c. Sambhar lake  d. Baikal lake 
_____ ,e;jpahtpd; kpfg; ngupa ctu;ePu; Vup 
a. rpy;fh Vup b. Gypfhl; Vup c. rhk;ghu; Vup  d. igfy; Vup 

 
20. ___ is a large body of water, with a narrow mouth, that is almost 

completely surrounded by land. 
a. Gulf   b. Bay  c. Strait  d. Sea 
____ vd;gJ Kw;wpYk; epyj;jhy; #og;gl;l FWfpa Kfj;Jthuk; nfhz;l 
xU mfd;w ePu;g;gug;G. 
a. tisFlh b. tpupFlh   c. ePu;r;re;jp  d. fly; 

 
21. An Exclusive Economic Zone extends from the base line to the maximum 

of ____ 
a. 200 km   b. 200 nautical miles  
c. 360 km   d. 370.4 nautical miles 
jdpj;j nghUshjhu kz;lyk; vt;tsT njhiyT tiu ,Uf;Fk;? 
a. 200 fp.kP  b. 200 fly; iky;fs; 
c. 360 fp.kP   d. 370.4 fly; iky;fs; 

 
22. Match the following  

Trench   Depth (metres) 
A. Mariana  1. 7450 
B. Tonga   2. 10,554 
C. Kurile   3. 10,882 
D. Sunda   4. 10,994 
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nghUj;Jf. 

 mfop    Mok; (kPl;lu;) 
A. kupahdh  1. 7450 
B. nlhd;fh  2. 10>554 
C. Fupy;   3. 10>882 
D. Rz;lh   4. 10>994   
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 4 3 2 1 
d. 3 4 1 2 

 
23. ____ is the deepest part of the Indian ocean. 

a. Kurile Trench   b. Aldrich Trench 
c. Sunda trench   d. None of the above 
____ ,e;jpag; ngUq;flypd; Mokhd gFjp. 
a. Fupy; mfop   b. my;l;upr; mfop 
c. Rz;lh mfop   d. Nkw;fz;l vJTkpy;iy 

 
24. Ocean salinity is maximum ____ 

a. at the equator    b. between 20and 40 N  

c.  between 20 and 40 S  d. at the Poles 
ngUq;flypd; ctu;g;gpak; ____y; mjpfkhf ,Uf;Fk;. 

a. G+kj;jpa Nuifapy;   b. 20ypUe;J 40 tlf;F tiu 

c. 20 ypUe;J 40njw;F tiu d. JUtq;fspy; 
 
25. Choose the correct one based on the velocity of ocean currents 

a. Drift > Currents > Stream 
b. Stream > Current > Drift 
c. Drift > Stream > Current 
d. Stream > Drift > Current 
fly; ePNuhl;lq;fspd; Ntfj;jpd; mbg;gilapy; rupahd xd;iwj; Nju;T 
nra;f. 
a. fhw;wpaf;Fk; ePNuhl;lq;fs; > ePNuhl;lk; > Xilfs; 
b. Xilfs; > ePNuhl;lk; > fhw;wpaf;Fk; ePNuhl;lq;fs; 
c. fhw;wpaf;Fk; ePNuhl;lq;fs; > Xilfs; > ePNuhl;lk; 
d. Xilfs; > fhw;wpaf;Fk; ePNuhl;lq;fs; > ePNuhl;lk; 
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26. Choose incorrect pair 
I. Kuroshio current - Cold current 
II. Oyashio current  - Warm current 
III. California current - Cold current 
IV. Peru current  - Cold current 
a. I, II  b. III, IV  c. IV alone  d. I, II, IV 
jtwhd ,iziaj; Nju;e;njLf;f. 
I. FNuh~pNah ePNuhl;lk;  - Fspu; ePNuhl;lk; 
II. xah~pNah ePNuhl;lk;  - ntg;g ePNuhl;lk; 
III. fyp/Nghu;dpah ePNuhl;lk; - Fspu; ePNuhl;lk; 
IV. ngU ePNuhl;lk;   - Fspu; ePNuhl;lk; 
a. I, II  b. III, IV  c. IV kl;Lk;  d. I, II, IV 

 
27. Sargasso Sea is located in ____ 

a. North Pacific Ocean   b. South Pacific Ocean 
c. North Atlantic Ocean   d. South Atlantic Ocean 
ru;Nfhrh fly; vq;F cs;sJ? 
a. tlf;F grpgpf; ngUq;fly;   b. njw;F grpgpf; ngUq;fly; 
c. tlf;F ml;yhz;bf; ngUq;fly; d. njw;F ml;yhz;bf; ngUq;fly; 

 
28. The lapse rate of temperature is ___ for every 1000 metres of ascent. 

a. 1C  b. 6.5C  c. 65C  d. 650C 
ntg;gf; FiwT tpfpjkhdJ xt;nthU 1000 kPl;lUf;Fk; ____ Mf 
cs;sJ. 
a. 1C  b. 6.5C  c. 65C  d. 650C 

 
29. Choose correct pair 

I. Aurora Borealis  - Northern lights 
II. Aurora australis  - Southern lights 
a. I  b. II  c. Both I and II  d. Neither I nor II 
rupahd ,iziaj; Nju;e;njLf;f. 
I. mNuhuh Nghupahyp]; - tlJUt kpd; xspfs; 
II. mNuhuh M];l;uhyp]; - njd;JUt kpd; xspfs; 
a. I  b. II  c. I kw;Wk; II rup  d. ,uz;Lk; ,y;iy 

 
30. Sea level atmospheric pressure is ____ 

a. 1013 mb  b. 1013.25 mb c. 1014 mb  d. 1014.25 mb 
fly;kl;lj;jpy; tspkz;ly mOj;jk; ____. 
a. 1013 mb  b. 1013.25 mb c. 1014 mb  d. 1014.25 mb 
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31. Consider the following statements. 
I. Wind direction is identified by wind vane. 
II. Wind speed is measured by Anemometer. 
a. I only is correct   b. II only is correct 
c. Both are correct   d. Both are wrong 
fPo;fz;l thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. fhw;wpd; jpiria mwpa gad;gLk; fUtp fhw;W jpirkhdp. 
II. fhw;wpd; Ntfj;ij mstpl gad;gLk; fUtp fhw;Wkhdp 
a. I kl;Lk; rhp    b. II kl;Lk; rhp 
c. ,uz;Lk; rhp    d. ,uz;Lk; jtW 

 
32. Intertropical Convergence Zone lies at/between ____ 

a. Equator   b. 5N  c. 5S   d. 5N and 5S 
epyeLf;Nfhl;L mikjp kz;lyg; gFjp vq;Fs;sJ? 
a. G+kj;jpa Neuifg; gFjp  b. 5N c. 5S    d. 5 NypUe;J 5 
Stiu  

33. Choose incorrect pair 
a. Karaburam - central Africa 
b. Khamsin - Mediterranean 
c. Loo  - North India  
d. Mistral  - France 
jtwhd ,iziaj; Nju;e;njLf. 
a. fhuG+ud;  - kj;jpa Mg;upf;fh 
b. fhk;rpd;  - kj;jpa jiuf;fly; 
c. Y}   - tl ,e;jpah 
d. kp];l;uy;  - /gpuhd;]; 

 
34. The speed of Jet stream is ____ 

a. 450 miles/hr  b. 450 kmph c. 500 kmph d. 500 miles/hr 
n[l; fhw;wpd; Ntfk; _____. 
a. 450 miles/hr  b. 450 kmph c. 500 kmph d. 500 miles/hr 

 
35. pH value of normal rain is ____ 

a. 5.4   b. 5.5   c. 5.6   d. 5.7 
,ay;ghd kioapd; pH kjpg;G ____. 
a. 5.4   b. 5.5   c. 5.6   d. 5.7 

 
36. Cloud seeding (or) Artificial rainfall is caused by seeding ___ into clouds. 

I. Dry Ice  II. Silver Iodide  III. Potassium Iodide 
a. I alone  b. II, III  c. I, II, III d. none of these 
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Nkf tpijg;G my;yJ nraw;if kio ____ ia Nkfj;jpy; tpijg;gJ 
%yk; cUthfpwJ. 
I. twz;l gdpgbfq;fs;  II. rpy;tu; INahill;  
III. nghl;lhrpak; INahill; 
a. I kl;Lk;  b. II, III  c. I, II, III  d. ,it VJkpy;iy 

 
37. The eye of Tropical cyclone is a calm region with ____ 

a. minimum rainfall and highest temperature 
b. no rainfall and lowest pressure 
c. no rainfall and highest pressure 
d. maximum rainfall and lowest pressure 
#whtspapd; fz; vd;gJ xU mikjpahd gFjpahFk;. mjw;F fPOs;s 
ve;j jd;ik nghUe;Jk;? 
a. Fiwe;j kiog;nghoT kw;Wk; mjpf ntg;gepiy 
b. Fiwe;j mOj;jk; nfhz;l kiog;nghoptpy;yhj gFjp 
c. mjpf mOj;jk; nfhz;l kiog;nghoptpy;yhj gFjp 
d. mjpf kiog;nghopT kw;Wk; Fiwe;j mOj;jk; 

 
38. Naming of the Tropical cyclone developed in the Indian ocean began in 

____ 
a. 2000  b. 2002  c. 2003  d. 2004 
,e;jpag; ngUq;flypy; Vw;gLk; Gay;fSf;F ngaupLk; tof;fk; _____ Mz;L 
njhlq;fpaJ.  
a. 2000  b. 2002  c. 2003  d. 2004 

 
39. Which of the following are natural decomposers? 

I. Fungi   II. Bacteria   III. Mushroom 
a. I alone  b. I, II  c. II alone  d. I, II, III 
,tw;wpy; vit ,aw;if rpijg;Nghu;fs; 
I. G+Q;ir   II. ghf;Bupah   III. fhshd; 
a. I kl;Lk;  b. I, II  c. II kl;Lk;  d. I, II, III 

 
40. The main natural carbon sinks are ____ 

I. plants  II. Ocean   III. Soil 
a. I alone  b. II alone  c. I, II  d. I, II, III 
Kf;fpakhd ,aw;if fhu;gd; Njf;fq;fs; vit? 
I. jhtuq;fs; II. ngUq;fly;fs; III. kz; 
a. I kl;Lk;  b. II kl;Lk;  c. I, II   d. I, II, III 

 
41. The optimum temperature required for coral growth is _____ Celsius 

a. 20 - 25  b. 23 - 29   c. 25 - 30  d. 30 - 35 
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flw;gtsq;fs; tsu;tjw;F cfe;j ntg;g epiy ____ MFk;. 

a. 20 - 25  b. 23 - 29   c. 25 - 30  d. 30 - 35 
 
42. Mangrove forests of Tamil Nadu are found in ____. 

I. Pichavaram  II. Muthupet  III. Ramnad 
IV. Gulf of Mannar V. Pallikaranai 
a. I, II, IV  b. I, II, V  c. I, II, IV, V d. All of these 
jkpo;ehl;by; rJg;Gepyf; fhLfs; vq;F cs;sd? 
I. gpr;rhtuk;  II. Kj;Jg;Ngl;il III. uhkehjGuk; 
IV. kd;dhu;tisFlh V. gs;spf;fuid 
a. I, II, IV  b. I, II, V  c. I, II, IV, V d. ,it midj;Jk; 

 
43. Match the following 

Temperate Grassland  Places 
A. Steppes    1. South America 
B. Prairies    2. Australia 
C. Pampas    3. North America 
D. Downs    4. Europe and Asia 

A B C D 
a. 4 3 1 2 
b.  4 3 2 1 
c. 3 4 1 2 
d. 1 2 3 4 
nghUj;Jf. 
kpjntg;gkz;lyg; Gy;ntsp  ,lk; 

 A. ];nlg;gP     1. njd; mnkupf;fh 
B. gpnua;up     2. M];jpNuypah 
C. ghk;gh];    3. tl mnkhpf;fh 
D. nlsd;];    4. INuhg;gh kw;Wk; Mrpah 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c.  3 4 1 2 
d. 1 2 3 4 

 

44. Consider the following statement. 
I. Project elephant was started in 1992. 
II. There are 32 elephant Reserves in India. 
a. I only is correct  b. II only is correct 
c. Both are correct  d. Both are wrong 
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fPo;fhZk; thf;fpaq;fis ftdj;jpy; nfhs;f. 
I. ahid ghJfhg;G jpl;lk; 1992Mk; Mz;L njhlq;fg;gl;lJ. 
II. ,e;jpahtpy; nkhj;jk; 32 ahid fhg;gfq;fs; cs;sd. 
a. I kl;Lk; rhp   b. II kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;L jtW 

 
45. Jhansi Rani Marine National Park is situated in ____ 

a. Uttar Pradesh     b. Lakshadweep   
c. Andaman and Nicobar Island  d. Gujarat 
[hd;rpuhzp fly;rhu; Njrpa G+q;fh vq;F cs;sJ? 
a. cj;jpu gpuNjrk;    b. yl;rj;jPT 
c. me;jkhd; kw;Wk; epf;Nfhghu; jPT d. F[uhj; 

 
46. Choose the incorrect pair 

a. Project Turtle     - 1999 
b. Project Rhinoceros     - 1987 
c. Operation Crocodile    - 1975 
d. Indian Rhino Vision    - 2025 (target year)  
nghUe;jhjtw;iw Nju;e;njLf. 
a. fly; Mikfs; ghJfhg;Gj; jpl;lk;  - 1999 
b. fhz;lhkpUf ghJfhg;Gj; jpl;lk;  - 1987 
c. Kjiyfs; tsu;g;G ,af;fk;   - 1975 
d. ,e;jpa fhz;lhkpUf ghJfhg;Gj; jpl;lk; - 2021 (,yf;F Mz;L) 

 
47. Which one of the Geographical Phenomenon has helped the great Kings 

of the Chola Kingdom to sail their ships across the Indian Ocean? 
a. Tides  b. Indian Monsoon c. El-Nino  d. Ocean currents 
,tw;Ws; ve;j xU Gtpapay; epfo;T Nrho murh;fs; jq;fsJ fg;gy;fis 
,e;jpa ngUq;flypy; nrYj;j cjtpaJ? 
a. Xjq;fs;  b. ,e;jpa gUtfhw;W  
c. vy;-epNdh d. fly; ePNuhl;lq;fs; 
 

48. Indian Regional Navigation Satellite System (IRNSS) was officially 
named as the NAVIC. What does it stands for? 
a. Navigation with Indian Constellation 
b. Navigation with Indian continent 
c. Navigation with Integrated chips 
d. Navigation with International Container 
,e;jpag; gFjpf;fhd ,lQ;Rl;b nraw;ifNfhs; mikg;G (IRNSS) f;F 
mYty; hPjpahf NAVIC vdg;ngah;. mjd; tphpthf;fk; 
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a. Navigation with Indian Constellation 
b. Navigation with Indian continent 
c. Navigation with Integrated chips 
d. Navigation with International Container 

 

49. Landsat, SPOT, IRS are 
a. Navigation satellite only   
b. Earth observing satellite only 
c. Earth observing satellite and Remote sensing satellite 
d. Spy satellite only 
Landsat, SPOT, IRS vd;git 
a. CLUty; nraw;ifNfhs; kl;Lk; 
b. Gtp $h;Nehf;F nraw;ifNfhs; kl;Lk; 
c. Gtp $h;Nehf;f kz;Zk; njhiy czh;T nraw;ifNfhs;fs; 
d. csT nraw;ifNfhs;fs; 

 

50. Find out the below instrument used for surveying 
a. GPS  b. GPR  c. GIS  d. IRNSS 
gpd;tUk; fUtpfspy; vJ fzf;nfLg;G fUtp? 
a. Gtpepiyg;gLj;jy; mikg;G  b. epy CLUty; Nulhh; 
c. Gtpj;jfty; mikg;G   d. IRNSS 

 
  



 

13 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

MONTH OF NOVEMBER 
TEST I 

 

1 2 3 4 5 6 7 8 9 10 
A B B D D C D B C A 

11 12 13 14 15 16 17 18 19 20 
D D A D B D B B C A 

21 22 23 24 25 26 27 28 29 30 
B C C B B A C B C B 

31 32 33 34 35 36 37 38 39 40 
C D A B C C B D D D 

41 42 43 44 45 46 47 48 49 50 
B D A C C D D A C B 

 


